logarithmic V , Vy-data
+logL)/2 logVi,= —0,35L)\~u ]

logV =(log

logV, =logV + 0,02

log [Vo, V

Ur=(A — 550) / 50,

|Og Lo =-0, 35[.1)\—U57o]
Adaptation: A, =557

maximum
log(L m)=-0,02
Lm=0,95
Threshold
t=0,00

’

-data Uy=(A — 550) / 50

+log
+0,08

)/2log =-0,35u)-u ]
logVl,=-0,35u)\—-u ]
Adaptation: A ,=520

maximum
log(L m)=-0,08
Lm=0,81
Threshold
t=0,00

I

=(log
=log

600 700 A/nm

-data U=\ = 550) / 50,

'+Iog

)/2log =-0,35u)-u ]2

+0,08  logho= -0,350—Us]

Adaptation: A ,=520

maximum

logarithmic V , Vo-data uy=(\ — 550) / 5
logV. =(logV,+logLo)/2 logVi,= —0,35)-u ]2
logVo =logV + 0,02 logLo = —0,35L)—Us7d
log [Vo, V , Mg, Lo] Adaptation: A, =557

557570 maximum
log(L m)=—0,02
Lm=0,95
Threshold

1M =V)
1(LO—V )

u\

600 700 A/nm

-data uy=(A — 550) / 5
+logVi,)/2 log ——0 ,35)\-u ]2
+0,08 logMo=-0,35)\~Uss]
Adaptation: A ,=520

maximum
760 log(L m)=-0,08

Thresvhold
ta=0,00

i1
(

600 700 A/nm

uy=(A — 550) / 502

=(log +logM)/2log =-0,35L)\—u ]2
=log +0,08 logVlo=-0,35L)\~Us.q]
Adaptation: A ,=520
aximum

760 log(L m)=-0,08
1

m=0,

log(L m)=-0,
0g(L m=-0,08 Threshold

Lm=0,81
Threshold
t:=0,00

R

CEK60-5A

logarithmic L , Lo-data
logL =(log

+log

700 A/nm
Uy=(A - 550) / 50,

)/2 log, = -0,350\—u ]

logLo, =logL + 0,35 log =-0,35u,-u ]

log [Lo, L

Adaptation: A =570

maximum

ta=0,00

-Mo=2( -
. ‘:2( v
3 Ux

600 700 A/nm

CEK60-6A

logarithmic L , Lo-data uy=(A — 550) / 50

logL =(log . +log )/2 log© =-0,35u)\-u ]2

logL, =logL + 0,35 log  =-0,35u\-u ]

log [Lo, L, Go, Adaptation: A~ =570
maxirum
159(Lm)=-0,35
L m=0,44

log(L m)=-0,
0g(L m=-0,35 Threshold

Lm=0,44
Threshold
t4:0,00

L
1(Go-L:)
1(:0=L)
3 uy
A/nm

CEK60-8A



